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INSTRUCTIONS TO THE CANDIDATES

. This Question Booklet is printed in Hindi and English languages. Candidates should select any one of the two

languages according to their convenience.

The Question Booklet contains 100 questions. The examinee should verify that the requisite number of questions
are printed in the Question Booklet, otherwise he/she should ask for another Question Booklet.

3. All questions are compulsory.

All questions carry equal marks.

5. The cover page indicates the number of pages in the Question Booklet. The examinee should verify that the

requisite number of pages are attached in the Question Booklet, otherwise he/she should ask for another Question
Booklet.

6. Read carefully the instructions given on the Answer Sheet supplied and indicate your answers accordingly.
7. Kindly make necessary entries on the Answer Sheet only at the places indicated and nowhere else
8. Examinee should do all rough work on the space meant for rough work in the pages given at the end of the Question
Booklet and nowhere else, not even on the Answer Sheet.
9. If there is any sort of mistake either of printing or of factual nature in any question, then out of the Hindi and
English versions of the question, the Hindi version will be treated as standard.
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1. |If the arithmetic mean of first n natural
numbers is 100, then n is

(A) 196
(8) 197
(C) 198

(D) 199

2. The absentee record of students in a given
term is as follows. If the mean absentee
for the term is 15.5, find the frequencies
‘x"and 'y

Numberof |0-5|5-10 | 10 -15 | 15-20 | 20-25
Days
Total

Number 15 16 X 8 y
of Students

Number
of Days

yesme| o | ¢ | 4 |»

25-30 | 30-35 | 35 -40 | Total

(A) x=4,y=3
(B) x=7,y=7
(C) x=3,y=4
(D) x=7,y=6

3. Find the missing number.

3 2 2 g 3 9
102 105 ?
2 8 4 6 3 6
(A) 105
(B) 151
(C) 210
(D) 117

S/F/P/11/2020/ I-A

4. Some letters are given which are numbered
1, 2,3, 4,5 and 6. Find the combination of
numbers so that the letters are arranged
accordingly to form a meaningful English
word.

1 2 3 4 5 6
O[N|[W/|[R E D

(A) 321456
(B) 231456
(C) 312654
(D) 314265

5. If ‘City’ is called ‘Village’, ‘Village' is called
‘Forest’ and ‘Forest’ is called ‘Building’, then
where do deers live ?

(A) City

(B) Village
(C) Forest
(D) Building

Directions (Question No. 6 = 10) : Read the
following excerpt and answer the questions asked
at the end. The answers to the questions should
be based on the excerpt.

Although water covers approximately sixty seven
percent of the Earth’s surface, of this less than
three percent is fresh water. Accounting for fresh
water locked in glaciers, ice-caps or otherwise
inaccessible, less than a tenth of a percent of the
Earth’s water is available for human consumption.
Pollution, population growth and wasteful irrigation
practices are contributing to a worldwide water
shortage. When the clear precious liquid becomes
scarce, countries begin to assert claims on fresh
water supplies. As a result, drinkable water has
become a region of conflict that could eventually
lead to greater hostilities between nations,

Some countries such as the United States, have
ample sources of water. In other nations, such as

[ PT.O.
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China, water is less plentiful. As water resources
dwindle, competition for available sources will
rise. Nations may claim rights to a particular body
of fresh water or they may plan to build dams and
other projects on rivers. If two or more nations
which disagree on water rights or building projects,
conflicts can emerge. In order to combat this issue
many countries are adopting water conservation
and security solutions. The United Nations has
implemented programs to combat potential issues
that could lead to violence.

6. What is the main focus of this passage ?

(A) It is important to conserve water
because only 3% of the water on earth
is drinkable

(B) China will fight with America for
controlling fresh water sources

(C) Most fresh water is locked in glaciers
and ice-caps

(D) Water is limited and shortages will
likely lead to conflicts

7. What percent of surface of earth covered
with water, is available for human
consumption ?

(A) 0.1%

(8) 0.001%
(C) 0.67%
(D) 0.067%

8. Which of the following could be probable
reason for hostility among nations in future ?
(A) The fact that America has ample
sources of water

(B) Assertion of claims on fresh water
supplies in future

(C) China intends to claim on fresh water
sources as it has less sources than
America

(D) In-equilibrium of arms among various
nations

S/F/P/11/2020/ N1-A

9.

10.

11.

Which of the following may definitely not
be concluded from the passage ?

(A) Upto about three percent of water
may be for human consumption by
accounting all possibility

(B) About 97% of water is unusable for
human consumption

(C) Water crisis may trigger an arms race
among nations in future

(D) Water crisis may possibly end up in
creating a hostile relationship among
countries

What would be the most effective solution to
avoid future conflicts among the nations ?

(A) To destroy all weapons
(B) To sign pacts on water rights
(C) To conserve water

(D) Tomake United Nations amore effective
body in handling these issues

How many total triangles are there in the
following figure ?

(A) 16
(8) 18
(C) 20
(D) 24

[ PT.O.
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12. Certain numbers are given inside/outside
the square box according to a particular
rule. Identify the correct option to fill in the
space marked with question mark (?).

27 56 27
36319 814 119 36| ¢ |3
9 7 9
(A) 1
(8) 3
(€) 9
(D) 12

13. In the following figure, four images are
similar in a certain way. Find the odd one
image of these.

P Q R S T

KR HK[K

(A) Q
(B) R
(C) S
(D) T

14. Find out the correct option for mirror
(vertical) image of the following figure.

=
| IR || [

(a) (b) (c) (d)
(A)
(B)
(C)
(D)

0O o w o

S/F/P/11/2020/ 1I-A

15. In certain code language, if OA = 5,
OO =9(A) =125 and| O | = 16, then

o1l

(A) 89
(B) 100
(C) 144
(D) 2304

Directions (Questions 16 — 20) Read the following
excerpt and answer the questions asked at the end.
The answers to the questions should be based on
the excerpt.

Photographic evidence suggests that liquid water
once existed in great quantity on the surface of
Mars. Two types of flow features are seen: runoff
channels and outflow channels. Runoff channels
are found in the southern highlands. These flow
features are extensive systems — sometimes
hundreds of kilometers in total length — of
interconnecting, twisting channels that seem to
merge into larger, wider channels. They bear a
strong resemblance to river systems on Earth and
geologists think that they are dried-up beds of
long-gone rivers that once carried rainfall on Mars
from the mountains down into the valleys. Runoff
channels on Mars speak of a time 4 billion years
ago (the age of the Martian highlands), when the
atmosphere was thicker, the surface warmer and
liquid water widespread.

Outflow channels are probably relics of catastrophic
flooding on Mars long ago. They appear only in
equatorial regions and generally do not form
extensive interconnected networks. Instead, they
are probably the paths taken by huge volumes
of water draining from the southern highlands
into the northern plains. The onrushing water
arising from these flash floods Iikely also formed
the odd teardrop-shaped “islands” (resembling
the miniature versions seen in the wet sand of
our beaches at low tide) that have been found
on the plains close to the ends of the outflow
channels. Judging from the width and depth of
the channels, the flow rates must have been truly
enormous—perhaps as much as a hundred times
greater than the 105 tons per second carried by the
great Amazon River. Flooding shaped the outflow
channels approximately 3 billion years ago, about
the same time as the northern volcanic plains
formed.

[ PT.O.

Check last page for Bonus




——1—1

@

16.

17.

18.

19,

e W o & o warg 6 fasivand et s
g7

(A) ofve e &=

(B) Iudl qEret &=

(C) aféoft A &=

(D) =féoft versh &=

Jues | 2féqoft gereh &= # styame =l fi

w1 HTE o AR W T gAE adt 6 ¢

(A) HTET TR T FTATET TS I i el
qqT o

(8) fereft wmg v & fewt wt wrdh wean
arfrer fire oft

(C) st wiwre ot 7t womret, geet o ge
s1fore =g ot

(D) Wirer =t Ffeat e s fafeam gt vea
qE &

HiTel YU afgalie Sl § sed arel gt &1 5

&1 fehean 1g9H B

(A) 10524 Ui d&e

(B) 10574

(C) 105002 ufd AFe

(D) 105002

T o srgan e 8 @ aft, e wafeats

Al & 91 1§ 7 €, foaw

(A) & T IHT GHY 94 T I Al W
sarangEt nfatafy € @ o

(B) 9 Fae Wrel e Fil Taw & $o fawd w
qTe, ST &

(C) A Hofi-Toft 30 TUH T @Al B 9 &,
ot o =eft s % Tz Al ot @ e
q feard i ?

(D) TaT " T @ R A et A |
I F S S e o

S/F/P/11/2020/ 1I-A

20.

21.

22.

TANE # EF 4 T THERI F41 I

2 T aritsta 91 & e @ ufa @& 1052

aTt %1 waTE B @ 7

(A) e & afeate Se o e | g8 9T
art ) W & e STER SR &
ferg

(B) SfR! gr T o T 821 | A
T & fore fo et & wifeate Swe e
T YA 94 9

(C) ¥ @ 34 & fou & gevae oma @
AV e vaT wifadene o fed 3y
& AH F “F" §1 T

(D) ¥e e 24 & foru fos we wamg & it
1 e IeE] SATCATYE o HaTH] oh SRR
24 & foru gaieg wifeaemsdt o

(st Wy H) =8 9y] 8, S e
& @ Myfer 1 & 2 wid g g |
(A) SHUEFET
(B) BIEHH
(C) ATFE
(D)

iz & ara @ Tt st i (SEs a H)
1 e AR 7

(A) Themefere

(B) HIANefcT

(c) Sfeenfar

(D) OfERes

Check last page for Bonus

I ———




A

e

16. In which of the regions are flow features
seen on Mars ?
(A) Western plains
(8) Northern highlands
(C) Southern plains
(D) Southern highlands
17. What does the discussion in paragraph of
runoff channels in the southern highlands
suggest about Mars ?
(A) The atmosphere of Mars was once
thinner than it is today
(B) Large amounts of rain once fell on parts
of Mars
(C) The river systems of Mars were once
more extensive than Earth’s
(D) The rivers of Mars began to dry up
about 5 billion years ago
18. The amount of water flowing down the
outflow channels on Mars is estimated to
be closest to
(A) 105 tons per second
(B) 105 tons
(C) 10500 tons per second
(D) 10500 tons
19. According to paragraph, all of the following
are true of the outflow channels on Mars
except
(A) They formed at around the same time
that volcanic activity was occurring on
the northern plains
(B) They are found only on certain parts of
the Martian surface
(C) They sometimes empty onto what
appear to have once been the wet
sands of tidal beaches
(D) They are thought to have carried
water northward from the equatorial
regions
S/F/P/11/2020/ 1I-A
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20.

21.

22,

In paragraph, why does the Author include

the information that 105 tons of water flow

through the Amazon River per second ?

(A) To emphasize the great size of the
volume of water that seems to
have flowed through Mars’ outflow
channels

(B) To indicate data used by scientists to
estimate how long ago Mars' outflow
channels were formed

(C) Toargue that flash floods on Mars may
have been powerful enough to cause
tear-shaped “islands” to form

(D) To argue that the force of flood waters
on Mars was powerful enough to shape

the northern volcanic plains

A animal is one that is active
primarily during the twilight period.

(A) Crepuscular
(B) Diurnal
(C) Nocturnal
(D) Auroral

A person who talks in sleep is called as
(A) Philatelist

(B) Somnambulist

(C) Somniloquist

(D) Oneirocritic

[ PT.O.
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} 23. Choose the correct alternative which can  27. Ofthewords given below, three are synonyms.

i
be substituted for the below underlined Choose the odd one out.

phrase. (A) Lethargy |
She was reading from a list that contained (B) Energy |
almost all the known idioms and phrases (C) Activity ‘
of English. (D) Spirit
(A) Magazine
(B) Gazette 28. Choose the prefix that should be added to
(C) Dictionary the word ‘Legible’ to form its antonym.
(D) Glossary (A) dis
(B) mis
(C) in
24. listening is also called as critical (D) il
listening.
(A) Therapeutic 29. Fillin the blank with correct collective noun.
(8) Discriminative A school of
(C) Empathetic (A) Fish
(D) Evaluative (B) Tiger
(C) Boys
(D) Cubs
25. The document thatis used to communicate
within the organization is called 30. Choose correct meaning of the Idiom
(A) Letter ‘Spin a yarn'.
(8) Memo (A) Do weaving work
. (B) Be a cunning craftsman
(C) E-mail :
(C) Stay silent
(D) Telex (D) Tell a long and far-fetched story

26. The correct synonym for ‘Slumber’ is
31. I|dentify the disadvantage of oral

(A) Sleep communication.
(8) Shiny (A) Immediate feedback is possible
(B) Listener’s reaction is observed
(C) Steer (C) A considerable amount of money and
time is spent

(D) Seller (D) Speaking to friends become easy |

S/F/P/11/2020/ 1I-A 11 [ PT.O.
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gfe p 3 Q 3199 o= = 39w H FTA
3R S 3N R ¥t 3799 TYH I AME A FEA A |
o s 3fit Q faerol ot s s 1 firerd €,
APSH TR
S, R
p Q
(A) afgor-gd
(B) aféror-ufeem
(C) Iw-gd
(D) IeR-ufrem
T 1 @ o amfafe i aradi 2 7

AR

39.

(A)
(B)
(€)
(D)

oo ow

(o7rsft v o ) Frferfige o @ $w-a ey
TR 7

(A) Tufeem o S wy |
(B) fafees s 3 S5 wa |
() fafem e ASETwy |

(D) Il # & FHiE 7 (D) fafeert sie W <o v |
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32. A communication process includes the
following sequential steps.

(A) encoding, transmission and decoding
(B) transmission, encoding and decoding
(C) decoding, transmission and encoding

(D) decoding, encoding and transmission

33. is used by managers to assign
goals; provide job instructions; inform
about policies, procedures and practices ;
provide performance feedback; point out
problems.

(A) Downward communication
(B) Upward communication
(C) Horizontal communication

(D) Both (B) and (C)

34. The depth of interpersonal relationships
required by a job depends on

(A) How complex the task is

(B) Different kinds of expertise possessed
by the people involved

(C) The degree of certainty with which job
outcomes can be predicted

(D) All of the above

36.

37.

38.

If the 02/04/2021 is Friday, then which of
the following would be the 22" day of the
next month ?

(A) Friday
(B) Saturday
(C) Sunday
(D) Monday

If P and Q interchange their positions and
S and R interchange their positions. Then
S and Q move diagonally and meet at the

centre. Pisin of S.
S R
p Q

(A) South-East
(B) South-West
(C) North-East
(D) North-West

Which of the following does not have a line
of symmetry ?

AR

(A) a
(B) b
(C) ¢
(D) d

35. The metaphor “emotional bank account”  39. Which of the following options is correct ?
iy _ (A) Mihika bought dozen eggs.
(A) The amount of trust that has been built
up in a relationship (B) Mihika bought the dozen eggs.
(B) The amount of emotions one has (C) Mihika bought a dozen eggs.
(C) An account with emotional bank
(D) None of the above (D) Mihika bought an dozen eggs.
S/F/P/11/2020/ II-A 13 [ PT.O.
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40. (mshwmrd) Frefafaad aam-aifawss 44, =um .

qEIR 7

(A) wElt B9 A fem g |
(B) ¥= &9 g faw gzt |
() Bt B9 Trw w57 |
(D) T A e fewm =g |

41. U # W ¥ Y€ & a Afdd HAM:

6.25 f&.ft. ufer 52 3t 7.75 for oY, wit w2
i nifd @ werd € | afe 3 e € fown | 9o
g, @ 3% 19.5 At 9w # fraa awa
& 7
(A) 1792
(B) 2292
(C) 13%2
(D) 12%2
42. 32 9 g6y 8 e wiafe &m e 8 fai 7 1/3
a1l T w1 gfdfes v sfafad 2 sm e
4 T&=1 5 g Rt a7
(A) 23
(B) 32
(C) 36
(D) 46

If& BRANCH %1 &9 DTCLAF & B, at
frafafeaa # @ #9-ar gam g9y 3fim
FETR 7

(A) PCQAWG : RESCUE

(B) NATION : CYRGMK

(C) DPGGPF : FRIEND

(D) NORMAL : ALTFCD

43,
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45,

46.

(a) |+l zaTd i et 2 |

(b) w+ft frarsal #ea & fow st arfi € |
e

(i) ¥o Memaizan g |

(ii) =1 Tirars zams & 2 |

(ili) F® d8d & fore or=s fergaiqag € |
(iv) |+t Bea % fere sr=a frergaf zard ¥ |
faw e et & foru Iweder o & # - Fred
gE g ?

(A) haet (i) STERT T &

(B) (i) AT (ii) ™ & 1§ off Y& it B
(C) et (i) 3 (iii) STEAT FLa &

(D) Iutiad ® & r§ oft Syerr TE e

Q1F, S2E, UeDb, w21cC, ?
(A) Z88B
(B) Y66B
(C) Ya4B
(D) Y88B

gfe g ity & Wy ¥ uF AEHE T

T U B9 3Ed § 3R 9= 9 S @

® &, G 29 FFH0 7

(A) SIEHE T & afed F ga gfaa
Ex U

(B) =di &hi 7 Wi 1 Sarat e

(C) TSI~ F F81 § QU TA A

(D) STaTHIE Fer % HraTHH| H giea
Ezul
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40.

41.

42,

43,

Which of the following options is correct ?
(A) Every man knows his duty.

(B) Each man knows his duty.

(C) Many man knows his duty.

(D) Any man knows his duty.

Two persons starting from the same place
walk at a rate of 6.25 kmph and 7.75 kmph,
respectively. What time will they take to
be 19.5 km apart, if they walk in the same
direction ?

(A) 17 hrs
(B) 22hrs
(C) 13 hrs
(D) 12 hrs

If 9 men completed 1/3" of a work in 8 days
working 8 hrs per day, how many more men
should be engaged to finish the rest of the
work in 4 days working one extra hour a
day ?

(A) 23

(B) 32

(C) 36

(D) 46

Which of the following indicates similar
relationship as BRANCH has with DTCLAF?

(A) PCQAWG : RESCUE
(B) NATION : CYRGMK
(C) DPGGPF : FRIEND
(D) NORMAL : ALTFCD

S/F/P/11/2020/ 1I-A

44,

45.

46.

Statements :
(a) All medicines are sweet.
(b) All sweets are good for health.

Conclusions :

(i) Some sweets are medicine.
(i) No sweet is a medicine.
(iii)
(iv)

Which of the above conclusions is correct for

Some healthy sweets are medicine.

All healthy sweets are medicine.

given statements ?

(A) Only (i) follows

(B) Either (i) or (ii) follows
(C) Only (i) and (iii) follows

(D) None of the above follows

Q1F, S2E, U6D, W21C, ?
(A) Z88B
(B) Y66B
(C) Ya4B
(D) Y888

If you see a manhole in a residential locality
during the rainy season and kids are playing

around, what will you do ?

(A) Inform Secretary of residential society

immediately
(B) Warn the kids not to play
(C) Ignore it and just walk away

(D) Inform the Security of the building

[ PT.O.
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47.

49.

19! T Serel & fo 379eT T2 COVID-19
gitsifea &, 3119 1 Hal 7

(A) 319 TETH 1 IeaTE TP

(B) A9 M % YR T FATSAT Famai

(c) 3faa srfmmfEt F dam o o s
Here &4 % fou w2

(D) 3% foreft & oft 7 5o et o & et &
e % fore wEn

3y ve wdhien forg @ # i s g

Tt 3 SR STTYeHT T ST S Aahel

wesm s Imnandita e 1w

forer i % &9 § a9 w w0 7

(A) 319 SR Y TheT & aTe T TE FE
F fow geme 3, wifF 3R 97 v
ST 1 IHeR Wfaes @ B S

(B) 3H 3193 UTH 39 Y= ! 9TH A & fou
N

(C) TSR-3ETS FU Fifeh 98 ATYH Fad
=TT 3 ©

(D) 3ueh s ¥ Ffter & frrra w0

ST9 YTET H ST S1ieT & FHR0 S 99T,

s feufa ot 2 sfit weifen & 1000 @

ST WIS TR A1 & | O SN ® Y

1y Ffafaa g @ e s F vea @ ?

(A) SEtaEg i 1 fafrer gemer ait
WIS &1 a1 F:a1

(B) ifea el =t faefia waz i swon w01

(C) =i Arrfeant =1 gafara Tum W EgTEETE
il

(D) T oft i =it wifen e X Tt e @
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T E ¥ 39 U W wAniE | e g

o Ete ¥, 3w w7
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F

(B) afe ufegmifes &t ot 9 @ &9 ua gwaTE
% foTe o W FameEd w1

(C) @ FifFe-19 W o fore sregare s

(D) wiawen agM areft Zamd &

st vyt 3 fopu e B we SR < e 7
% foro welt s g |

(A) T fFar 31T% 292 wiga €94 |

(B) 2321 wiga e 31 e |

(C) = et 3 Tt wrga w41 |

(D) F= Tt =1f7 Tt wrga wdiw |

(Brsft v ) wét form fog 3 g a4 |
(A) =82 & Y 15 3 29 Bl SFHe !
(B) =& qT 4 TIFH ¢ 89 B FHHRL |
(C) =/ qE q ATEF T 89 B AHERE ¢
(D) =2 & 4 T5H, 3 29 HIl FFHRE 7

(st vy #) welt ‘snfdeer qm a wy fam
T W | _

g 3 fafeee 3eqME Uz fREm
amfdfgmus _ Fier |
(A) /=

(B) &/=fdshet il sreta A&l

(€) ®/=
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49.

You come to know that your neighbour is
COVID-19 positive, what will you do ?

(A) Cheer up your neighbour

(B) Prescribe medicines based on your
experience

(C) Askhim to report the matter to and take
advice from appropriate authorities
(D) Ask him not to tell to anyone and stay

home quarantine

You are writing an examination and you
notice that your best friend is cheating
during the exam and the invigilator has not
noticed it. As a responsible citizen, what will
youdo ?

(A) After the exam you will advise your
friend not to cheat because if he gets
caught then his future will be spoiled

(B) Will ask him to pass that chit to you
(C) Will ignore as he is your best friend

(D) Complain about him to the invigilator

Because of continuous rains in your city there

is a problem of water logging, unhygienic

conditions and more than 1000 cases of

Dengue and Malaria are reported. As a

Corporator to which of the following things

you will give importance ?

(A) Arrange for medical support and food
to needy people

(B) Announce financial help to people who
have suffered

(C) Relocate all citizens to safer place

(D) Not do anything as it occurs every
year

S/F/P/11/2020/ II-A

50.

51.

52.

53.

Recently you attended a wedding function
and returned home, what will you do ?

(A) Resume your routine activities
immediately

(B) Undergo quarantine at home for at
least a week if asymptotic

(C) Immediately visit the hospital for
COVID-19 testing

(D) Take immunity boosting medicines

Find the correct answer for ‘How much are
these mangoes ?'

(A) One kilo of twenty five rupees.
(B) Twenty five rupees a kilo.
(C) One kilo in twenty five rupees.

(D) One kilo on twenty five rupees.

Choose the sentence with correct

punctuation.

(A) What would you like to have for
Breakfast !

(B) What would you like to have for
Breakfast.

(C) What would you like to have for
Breakfast ?

(D) What would you like, to have for
Breakfast ?

Fill in the blank with correct article pair.

Andaman and
Kerala.

My uncle visited
Nicobar Islands and

(A) the/the
(B) the/ article not needed
(C) an/a

(D) article not needed/article not needed

[ PTO.
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54. (37t v ) wet faweq & wny faa v
i |
AEFH___ AIUEE |
(A) a9
(B) *TEE
(c) feaud
(D) Ta

55. (st wren #) wE fasew & w1y fram wum
i |

arevr Ty TR T Tadl |
(A) 29 FH

(B) Seedl FA

(C) ¥ ST

(D) ETHSH

56. 2 & 7 g@en # T IF FH-AT BT
=ifed 7
2,1,(2/3), (1/2), ?
(A) 1/3
(8) 1/4
(C) 3/4
(D) 2/5

57. < difeat aet vk uftan # 38 ¥e= A, B, C,
D, E 3 F &, forad i qow i i mfgemd
¥ | T Faw 9 faarfea 2 € siR s @
Afaafea & 1 AR I 2 s, chl v
2 e Afeafea e 2 s DU qew 2 |
frafafaad asm-madi 2 7
(A) C, Farufa?

(8) C,DHITR
(C) D Afgarfea ?
(D) s oft T A B
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58.

59.

60.

61.

w frae @ v 7 w1 T 2, e e
| Tl B, TEd US FI 7S 1 8 IE
% | afe 31 gt o g 195 8, AT
gy # Fferfas § § - g 2 7

(A) 3,4
(B) 5,6
(€) 7,8
(D) 9,10

T et 3 U wiwen & e, “grer °i &
ofe 1 sre o A /= /A 2 afeen
6 ¥ & geifua & 7

(A) =&

(B) =&

(c) =f

(D) Ut

frefafias sraen # squfedm saw #9-4
g7

BA_BA_BAC_ACB_CBAC
(A) AACB
(B) BBCA
(C) CCBA
(D) CBAC

9w sms firen 2, e ot aurd
firet R o armaa et St R | 9 3 eueh
e ST G130 1 & o Faar 2 | e
F1 i 7
(A) STTERI | s 3R I welten
(B) HeW ! g2 N S wear it fard wdn
(C) 3firr SeeRTt I oA & fore srame &t
(D) W F ¥4 = fdw F3 & fog T
T
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56.

57.

Fill in the blank with correct option.

A snake on the ground.

(A) walks
(B) slide
(C) slithers

(D) move

Fill in the blank with correct option.
Arun became

(A) death broke

after the robbery.

(B) deadly broken
(C) break dead
(D) dead broke

Which will be the next numberin the series
given below ?

2,1,(2/3),(1/2),?
(A) 1/3
(B) 1/4
(C) 3/4
(D) 2/5

A family of two generations consisting of
six members A, B, C, D, E and F has three
males and three females. There are only
two married couples and two unmarried
siblings. F is A’s daughter and B is C’s
mother-in-law. E is an unmarried male and
D is a male. Which one of the following is
correct ?

(A) Cis F's husband

(B) CisD’s wife

(C) Disunmarried

(D) Noneis true

S/F/P/11/2020/ II-A

Chec* last page for Bonus

58.

59.

60.

61.

19

One page is torn from a book whose
pages are numbered in the usual manner
starting from the first page as 1. The sum
of the numbers on the remaining pages is
195. The torn page contains which of the
following numbers ?

(A) 3,4

(B) 5,6

(C) 7,8

(D) 9,10

A man said to a lady, “your mother’s
husband’s sister is my Aunt”. How is lady
related to the man ?

(A) Sister

(B) Daughter

(C) Mother

(D) Granddaughter

Which of the following alphabets are
missing in the arrangement given below ?
BA_BA_BAC_ACB_CBAC

(A) AACB
(B) BBCA
(C) CCBA
(D) CBAC

You received an SMS congratulating you
that you have won a lottery. It further asks
to share your contact information. What
will you do ?

(A) Share the information and wait for
reply

Delete the message and report the
incident

(B)

(C)
(D)

Will reply to ask for details
Will plan for investing the prize money

[ PT.0.
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64.

A9 7ETE 31gS % Afen a3 A § of e g

(A) =1 @reit 3 mifers Y qemer w0

(B) 1 =Y 3u&T T

(c) form g o & &t ean ol 9 G

(D) ¥t =Y FHrtams & Forg 3 = geen wwr
& 9 & S

Y UF g WA § 30 B s AN e @
# o ues g srea AraT-foar =1 @ wr e
3R T @1 R, A9 = H4T 7

(A) w=d &1 ITET HA

(B) wraT-fuar & forw =i a7 @ 3 ofie
(C) ==a =i Feream gfera 9= & & s

(D) Frean Faanati & s a4 1 39 WH

S

HAF 391 i ¥ o -09 w2 R,

forem 3 srt T mn 2 o arfar

feufa = = 39e aeFe $9 9 TaTand

F | 3 TR 7

(A) 39 Wge F & foru grafierar o Gy 9
o

(B) Teufa i gfee = fore firm & wvd = =

TATE H

(C) e I I 3¢ B2
(D) 39 39 fydent =1 & 9= 5@ &1
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19 U el o ewe & 3N e & arfia
e % o g sifafy & w9 o smifia 2
2 | aarE | b oF & fon o 39| e |,
AT T Shek ® Wy 0§ | 309 T i 7
(A) Teem =& i ifen s ues Feer & =i
ST 3719 3™ T Sa L Thd &
(B) SATITSTeh! ol it shidl, 7T fedfe & am
o FATu 3 e i o Taen 9
e led A 1 Y F
(D) STTATSISHI hl Shict Fleh 378 AN & FA
s Tomg =1 avturen & e s1ar | wee
=few ?

N T| F 6 - M

R M

(A) ©
(B) K
(C) H
(D) E

UF B¢ ¥ WS ° drd 1 U wqg, e
& THE o WY ANE © | 9 Fe 12 fm i
40 3 8. a1 i1 ° FA9: faw fewor @ik
e
(A) 4,8
(B) 6,6
(€} 3,9
(D) 8,4
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You are at Airport waiting lounge and
observe an unattended baggage for long
time, what will you do ?

(A) Open the bag and check for the owner
(B) Ignore the baggage

(C) Inform the Security Incharge about
baggage without touching it

(D) Take the baggage to Security Incharge
for further action

You have come to a crowded fair and you
see one missing child looking for parents
and crying, what will you do ?

(A) Ignore the child

(B) Look around for parents and gather
crowd

(C) Take the child to the nearest police
station

(D) Take the child to own house due to
safety concerns

You received an e-mail from your friend
requesting you urgently transfer some
money due to an emergent situation. What

will you do ?
(A) Send money on priority to help him out

(B) Tryto contact the friend to confirm the

situation
(C) lIgnore and delete the message

(D) Send money to his relatives you know

S/F/P/11/2020/ II-A
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You are a Director of a school and invited as
a chief guest for an annual function of the
school. On the way to attend the function,
you got stuck in heavy traffic. What will you
do?

(A) Will not worry as you are a Director and
people can wait until your arrival

(B) Call the organizers and update about
your situation requesting not to wait

(C) Call the organizers and request them
to wait until your arrival

(D) Call the organizers and tell them to
cancel and reschedule the event

Which alphabet letter should replace the
question mark ?

N T| [F H|] |6 M
?

P Rl ¥ L |
(A) O
(B) K
(C) H
(D) E

A group of parrots are present in a small

forest along with a group of deer. If there
are total 12 heads and 40 legs, how many
deer and parrots are there in the forest
respectively ?

(A) 4,8
(B) 6,6
(C) 3,9
(D) 8,4

[ PT.O.
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70.

(A) 1
(B) 4
(C) 5
(D) 8

i FmaisnFfaF 3t |
7% 35 o= & o7w it s =t 4 © wom sTan
2, @t o & aw s @ 1w o T
e

(A) 7/10

(8) 5/8

(C) 8/11

(D) 10/13

Iz pQ = ps, o ® Sl &1 39N =
qC, B 9o ! et % wan @md |

p

20

Q S

(A) 25
(8) 30
(C) 45
(D) 60
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72.

73.

Fo U 2rdt & | 1§ 2t Aiefi 7 R |
ek / (amoT) | S A A E
ek / (o) 11 : i B A T E |
(A) @ | uTEITEl ®

(B) @ || wrEIE

(C) e | 3T ||y

(D) 7t ek | 3T 7 & ek || gt ®

e oo e T i R |3 R
e ® T Sitgd #7 |

A/ (STTOTT) |+ ST AR ST 6 SR
TE F € |

ek / (SITTOTT) 1) ; ST TR T UHS A § |
(A) T | SFTETOT AT 2

(B) T Il ST LA &

(C) & 1 3T 1| SrgEw FE #

(D) @t adh | 3 & o )| STFEw F R

1Y U Wi 2; 38 Frafie e & o fas
Fiere 1 HAEIHA R |

e/ (amom) | wiyg @ FEfE e
STEEFAT 2 |

ek (STROTT) I : ST T A 8 ge i
FHEFE |

(A) @ 1FfEa

() @ Il ffew &

(C) & | 3fr i fafea €

(D) A ah | A Eah |l R
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68. The value of the following expression is Directions (Question No. 71 - 80) : In each of the

1 2 questions below is given a statement and followed
2= =i~ by two arguments numbered | and Il. Consider
9-8x 5—17 =7 the arguments and decide which option is correct
2——1 answer.
= 6 71. Some desks are caps. No cap is blue.
(A) 1 Assumption | : Some caps are desks.
(B) 4 Assumption Il : No desk is blue.
() 5 (A) Assumption | is strong
(D) 8 (B) Assumption Il is strong
(C) Assumption | and |l are strong
69. The difference between the denominator (D) Neither assumption | nor Il is strong

and the numerator of a fraction is 3. If the

denominator as well as the numerator is
72. “Use Craft colours. They add colour to our

4
increased by 4, then fraction becomes 5 life”. said an advertisement.

Find the original fraction.

Assumption | : Catchy slogans do not

(A) 7/10

(B) 5/8 attract people.

(C) 8/11 Assumption Il : People like dark colours.
(D) 10/13 (A) Assumption | follows

(B) Assumption Il follows

(C) Assumption | and Il follows

70. Using the information in the figure and

PQ = PS, find out the value of 3 in degrees. (D) Neither assumption | nor Il follows

i P
.k B 73. Anger is an emotion; it needs special skills
: as to control it.
. Assumption | : Anger need to be
a o . controlled.
Q 3 Assumption Il : Only skillful people can
; control it.
(A) 25 (A) Assumption | is implicit
(B) 30 (B) Assumption Il is implicit
(C) 45 (C) Assumption | and Il are implicit
(D) 60 (D) Neither assumption | nor Il is implicit
S/F/P/11/2020/ I-A 23 [ PT.O.
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FER
e/ (a1 S 3 ga fafdhe ém o
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(A) @ fafea 2
(8) & |l fafem 2
(C) @ | 3 i ffem &
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75. QU1 9 gl 14T, ¢ FT § S 5T |

e / (vmom ) | ; wftads wepfa w Fam

e / (umom) 1 g T et i

FEAE |

(A) T | STTEROT HTAT &

(B) T Il STTETIT LAl B

(C) @ | 3T || HTE L &

(D) =@ | 3 E ad ) ST
Fd B

76. TS WG YW WTE SR U Heea ol

AR |

R/ (ST ) | e S arE e e s
3R gefera wresa & fou vde yam w6 &
RER

e [ (MWOT) 11 : 9E F IAE WA
YiETed W& 1 UE 3UGH ) SgrEn a4 F
RHER

(A) @ | T 2

(B) ek I wwTErwTTEt B

(C) o | 3 |yt 8

(D) &t e | 3R A € e (| e #
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T1e €1 o f&i o argwrs /3etie 1 3wam osil
agIe |
A/ (YO | : ST ST HET R AT |

ek / (LTTOTT) || : SATHET3 & THG | ST STel
FAATAEY |

(A) & | wTETef 2

(B) @ || ST B

(C) @& | 3 )| gwraef 8

(D) = ek | 3R T € ek 1) IwrEeTeft 2

TS WTHcreh TETYRT o1 ST Sgd Heeaqol |
R/ (TTTOTT) | : WTehforeh EETeH S AT 5
3R @ i g w9 A EEEal
TER |

ek / (amom) 1 afess & difeat sl
i =1 Iqereydr W st |

(A) TF | ITEIT 8

(B) @ || ITETTE 8

(C) @k | 31 | aTaeITEdt 8

(D) 7 a1 aeF | 3R T & Fh || IaEE &

Tt T GFR T F B § | S ge T
<ot Tt 7€ At € |

e/ (arom) | ot s EE # |

e / (9TOTT) || : GAE T F AW HE AG
TE

(A) T | T B

(B) T || TS B

(C) @ | 3P || Wt &

(D) 7 4t ek | 3T & ash |y 2

Foquqd € | o gd s € |

ek / (ST | : W el SHI E |

e / (UTOT) 1 : T TR TR

(A) e | auTEITet B

(B) @ || wTEIEA 2

(C) ek | 3 || weTEETE &

(D) 7w | 3T & ok (| ysrEe #
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74.

75.

- e _——

76.

A new medicine ‘ALPHA’ is causing
excitement in the medical field.

Assumption | : No other drug is causing
excitement in the medical field.

Assumption Il : Medicine ALPHA is a very
effective drug.

(A) Assumption | is implicit
(B) Assumption Il is implicit
(C) Assumption | and Il are implicit

(D) Neither assumption I nor Il is implicit

The old order changed, yielding place to
new.

Assumption | : Change is the law of
nature.

Assumption Il : Discard old ideas because
they are old.

(A) Assumption | follows

(B) Assumption Il follows

(C) Assumption | and Il follows

(D) Neither assumption | nor Il follows

‘Swachchh Bharat Mission’ is an important
initiative of the Govt. of India.

Assumption | : Aims to provide universal
sanitation coverage and access to safe
sanitisation in India.

Assumption Il : Aims to promote and
provide clean toilet to each and every
household in India.

(A) Assumption | is strong
(B) Assumption Il is strong
(C) Assumption | and Il are strong

(D) Neither assumption | nor Il is strong

S/F/P/11/2020/ II-A

77.

78.

79.

80.

WiFi/internet usage has sharply increased
in recent times.

Assumption | : Internet data has become
cheaper.

Assumption Il : During lockdown time,
people were afraid to go out.

(A) Assumption | is strong

(B) Assumption Il is strong

(C) Assumption | and Il are strong

(D) Neither assumption | nor Il is strong

Conservation of natural resources is very
important today.

Assumption | : Natural resources are
abundant and consumption need not be
optimized.

Assumption Il : Future generations will
depend upon the availability of the natural
resources.

(A) Assumption | is strong

(B) Assumption |l is strong

(C) Assumption | and Il are strong

(D) Neither assumption | nor Il is strong

All mangoes are golden in colour. No
golden-coloured things are cheap.

Assumption | : All mangoes are cheap.

Assumption Il : Golden-coloured mangoes
are not cheap.

(A) Assumption | is strong

(B) Assumption Il is strong

(C) Assumption | and |l are strong

(D) Neither assumption | nor Il is strong

Some robbers are fools. Some fools are
rich.

Assumption | : Some robbers are rich.
Assumption Il : Some rich are robbers.
(A) Assumption | is strong

(B) Assumption Il is strong

(C) Assumption | and Il are strong

(D) Neither assumption | nor Il is strong

[ PTO.
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fador (we= d. 81 @ 85) : o 7Tu eIy & SmUm W
Freafafas e & 3w difs |

M -1

wogd # Fer & W9 & Faitha o G ag f
YT 3 Wittt fae Afer T v g | e
TR | g 2 A - (e ST I | e e
wehfer = wr form & o Iwo sr: vt & srfmm
®Y | 39 FHeg e # I F For vw 94 F fow
fFratfaa g wofen & g il snym # et @
e e T ® | 3173 wre ofiae T TG HrE | ST
¥ I0ed A i T@H I A ST g9 I3 8 3N
TG T8 W FAq I BAH T g 0 I & g
T e & gra S @ | 98 Taii | s
TEA 1 AT AT g 3T H A1 Hewl G # |
e Hiwed Hgn | fordt faee fayn Sl % il
Y 1 TH F FRIEESH T e ] w1 [
wiferg # 1qd 3N geaTRe: @ | ArcHifR T |
ST FfeeRt H TE0T gAY ATEA Hia F UTE g F
ST 3 HETRE W #6 & g 2nad! & ged ° g
el TS 7 & Wfa yor wra & wgwia A FE
FY1 ATV # Fferard & W 2 g et s
] 1 U T H g TR S 1 Fen Hera
#1 -5z argya Wi Fea 2 |

81. F=: Wfa &1 sifem w1 frem 2 7
(A) EE &
(B) IwHa A
(C) e 3R ITTE 31 |
(D) &t @ foet o oft el

S/F/P/11/2020/ N-A

82.

83.

85.

Fiferera Y Hifers Feon ;=R 7
(A) TIHH I g4 T AT

(B) & I q SATHL WS

(C) 3THIa= g I g T U

(D) W9 & 1 femor

Feied e H 3fe % @ F Faifea gan 7
(A) wferard

(B) &4

(c) Torram

(D) 34

787 =1 Iy fere faan 7
(A) Forram 3

() W= d

(c) fodiags

(D) F=ed

T F ERA EA E 7
(A) FE =™
(B) areHifE

(C) qereter®
(D) wIferarE
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fordor (wea 9. 86 @ 90) : 3w U My F IEm W
FreaferRaa wedi & 3o Afd |

eI - 2

yedi & fafir sl & wre sfifes e & fon ffv=
T ot e foramd shear 8 | 3 anfdie fomaati
10 gt = srfereRier W gt w9 & whafda S g |
5 st & o & e SerEr o, adue | 9w w5
qiftfeufee faesfaa = &t 78 & 991 woel oeu @
£ o1 i st wftgea faefa & mn 8, =i &
e geq Fream @ wafta gaif agEvea # sig
SRR | 9 w1 il faranatt & aga daheaur qu
Faed EET % vy fafie wrenfaes gt @ famo
AYT TUTTeHR Tt wTfad gaT @ | 39 W W A
T g F fEtaa &9 € e 2 @ | agE A
FETEA] % ST qUT YA F S I A
Torerma o T 1 e WI9evS R | 37: STt e H
HETAT 3 THR F I ITANT 1 SHAT i SR
T ST 2 |

86. Sfifad w1 & fou Ama F Fa B 7
(A) i fopamd
(B) Gzl
(C) waETaT 1 oo

(D) Sy

S/F/P/11/2020/ 1I-A

87.

89.

90.

TS % AT faeTd % W e WIS
R

(A) FfY

(B) HHTHH! =1 TG0 qT ITHRT S GHA
(C) gaT g

(D) wmTfE aftEds

strenfies wftgya & e & afomreasy #=0
g3t 7

(A) 9T FEHT

(B) &fta it

(C) Iy =t e ® FfE

(D) EHTSIAL

oA 31 3 T w9 g = forn 7
(A) eHehie & STl 1

(B) TSTHTETRT &1

(C) udar=et &1

(D) @i @

anfder el & wRomrasy 71 gan 7
(A) G
(8) =1 =ifA
(C) ufEda
(D) FemIT

[ PT.O.
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v

o (v 9. 91 @ 95) : fRu v meriw & Smum W™
forferftaa weal & 3w iftr |

eIy -3

gfe fiven sifaard s 8 ar e wfts =i 3= w@s
Tl Tal Sk -ergfehdl o foru 38 gerw s &, al
B Wh 31 Hiers Qe a1 Fa - wEaers
B 9 TR | 9, TSR geEan stgan faenfdE
@ ot s et | F g oft 39 wEraernst a9 S
a1 8, SAfe Tai 391 Wraena 32 8 & | Fenfd=i
F G TS TH FW F @ Afee, Fad snfds
wifta 2 37 36 @ Whe a9 Fiels Eaes a4 |
i a1 sfiard s T e s
2 | fenfiiat =1 anfefcie arefm & ara-any sitifre
arefig +ff firert =rfew, 38 savgsa & faan - ok
ITSiehel 39 WTd 1 W SAfushTives wiwn fomar s
81 ® - Bui 291 ° Y sienfies aefm A smavgwa
foren =1 w@raerE @9 F o oft @ | Sfe 78 woft
1 whar @ i g faemeff o @1 TR sgwa
i 37 1Y-3e & T i quTS § Auios FH
fores aweR @1 fae 2 |

91, Ha fore e g # &g W SR icts
&I AT B

(A) ufefea
(8) ifrard
() Frges
(D) EErEeT
S/F/P/11/2020/ II-A

92. farenfdat % forw @ smpva o Hram
HEATF B 7
INEELEARE]
(B) et fiven it sfardan
(€) afefEe e
(D) @mTfers wfeeat

93. iteiifirer arelm =1 ifamd s = &
HFHar e ?
(A) s wifed
(B) THe - Fiers I fawan
(€) Fr:yrem fen =1 famrra
(D) Tover =1 @R

94. foraes ary sfeifies arefim oft € st =nfew 7
(A) A fiven & @
(B) wietst forar & @y
(C) wfefcaes arefia & |1y
(D) et fren & |y

95. IYFe Teriel 1 At 3faa i 2
(A) stfrard fren
() feremeff o foven
(C) wamaerft e
(D) Toven =1 wew

28
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[

frdwr (w9 4. 96 & 100) : U 70 eI & MU W
Frefefiaa wei & 3w difsw |

MV -4

OO 1 ATEAH AR @ Ui B o ot frew |
I8 =1 ® | 3%ga: sTeafs ma-gl i gmren
Had RSl GO I &l 3@ F9dl @ | Sfadl 3k
STEERYT % |1Y 3faETH 1 €69 P 39 T@ 81 @
o et wnfefcer w9 arga ame # fawfea & o, w
TEIT R © & FeiTeHeh e 51 3941 il fears
UgaT & S 379t TR et o st fafae e &
F offw Ffa feufa 9 @ | i wmamers me o e
FATCHe WTST % YT e §9 S - 3U=ATH, 12,
Hfaan aAefen g Her & 3= g4l & 1 T
Y Y13 & fore wfeest 781 8 ara | 3t feufa o aw
wrenita & fafae & 1 3 3@ e @ s s
e o eta: geErTere S T B & | HE,
T, et 38 W ™ w9 @ aq et &
e % sraue A fawfea gu €, it S et w3
foan T, amyfaer wen aft & oS wedTar 3
Fafarwa & fF0dt yai & 9 gugfem &3 =
fream &

96. GEATH 3N FEI T fHaah gl R 7
(A) FEEOT 3R SATeaRYT il
(8) wufta wrey w9 il
(C) Sfradt 3 qrewaryT i
(D) geEmTiET & fafay &qi i

97.

98.

99.

100.

amyfae @it S9R @ Ia= d4El & F
e fre i sR@ g 2 7

(A) FEROT T IR

(B) FTeHaRdT I 3R

(C) w1 o WU FTeq TG il I

(D) gzl & fafaw w91 it 3l

gerr &1 qreaw e # g s 2 7
(A) St a

(B) STTeHHYTH

(C) sferera &

(D) 3TEFTEfh Ta-gui |

ST e -G o ST Jed Ted R
TR T R 7

(A) FE
(B) ATeHHHAT
(C) Sfrart
(D) feera

TR0 FSiTeNE WTNT & Yufd FTed ®9 | -1
gfefera i R 7

(A) 3TTH

(B) ATeF

(C)

(D) Hfaar

S/F/P/11/2020/ lI-A
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Bonus: Imp Booklist for MPPSC (by Harshal Choudhar Sir & Sampada Saraf Mam

History::

11th & 12th Old NCERT (Satish Chandra and RS Sharma)

Check on Amazon

History of Modern India by Bipin Chandra (Both Hindi and English Medium)

Check on Amazon

For MP History- Mukesh Maheshwari [Both Hindi & Eng Medium]

Check on Amazon

Geography::

Certificate Physical and Human Geography by GC Leong

Check on Amazon

Geography NCERTs

Check on Amazon

For MP Geography: Mukesh Maheshwari [Both Hindi & Eng Medium]

Check on Amazon

Pol Science & Public Administration::

Indian Polity by M. Laxmikanth (Available in Hindi and English)

Check on Amazon

Any relevant Public Administration Book

Check on Amazon

Economics & Sociology::

Class 11th & 12th Economics NCERTSs (Both Hindi and English)

Check on Amazon

Mukesh Maheshwari for MP Economy

Check on Amazon

Any sociology book for light concepts

Check on Amazon

Science & Tech::

6th to 10th NCERTs (enough for MPPSC)

Check on Amazon

Lucent GK Book

Check on Amazon

Other Important Resources::

Speedy Current Affairs (Full year)

Check on Amazon

Hindi Grammar book (preferably Hardev Bahri)

Check on Amazon

Lucent GK (Bhagvat Gita of MPPSC)

Check on Amazon

Ethics: Mahavir or Agrahari [Hindi Medium]

Check on Amazon

Ethics: Lexicon [English Medium]

Check on Amazon

UPSC Blank Practice Answer Sheet (for answerwriting practice)

Check on Amazon

Maps & Charts - 6 Charts: India & World Map ( Both Political & Physical )

Check on Amazon

with Constitution of India and History of India Chart

151 Nibandh for IAS/PCS (for Hindi Essay)

Check on Amazon

RS Agrawal CSAT Book (if required practice)

Check on Amazon

MPPSC Prelims Solved Papers (VVVVVV Imp) (solve atleast 8 years)

Check on Amazon



https://amzn.to/3qbzCWZ
https://amzn.to/3zgrZ3F
https://amzn.to/3KVDjrB
https://amzn.to/3krZjAu
https://amzn.to/3irSkEO
https://amzn.to/3KVDjrB
https://amzn.to/3CWY1os
https://amzn.to/3kxuCd2
https://amzn.to/3ilEuUF
https://amzn.to/3KVDjrB
https://amzn.to/3hNIVsf
https://amzn.to/3z3i4hI
https://amzn.to/3kxvLBm
https://amzn.to/3ex2fYy
https://amzn.to/37Ap6lD
https://amzn.to/3kxvLBm
https://amzn.to/3N37gId
https://amzn.to/3zbBpND
https://amzn.to/3qaFxvm
https://amzn.to/34Pwys4
https://amzn.to/3whKAxZ
https://amzn.to/3utU5HZ
https://amzn.to/3L19dDf



